BIDDER NO. 1

Excellere Construction, LLC

BIDDER NO. 2

Construction 57, Inc.

RECEIVED BY: CITY OF HAPEVILLE, GEORGIA

AT HAPEVILLE CITY HALL

2:00 P.M., LOCAL TIME, AUGUST 20, 2019

				4343 Shallowfo	rd Road, Ste B6B	809 Park North Boulevard	
					•		
				ıνιαπέττα,	GA 30062	Clarkston, GA 30021	
ITEM				UNIT		UNIT	
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT
150-1000	TRAFFIC CONTROL	1	LS	\$16,601.66	\$16,601.66	\$25,000.00	\$25,000.00
210-0100	GRADING COMPLETE	1	LŞ	\$74,181.00	\$74,181.00	\$60,000.00	\$60,000.00
	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP	1	EΑ	\$146.35	\$146.35	\$120.00	\$120.00
165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	100	LF	\$0.01	\$1.00	\$1.00	\$100.00
163-0232	TEMPORARY GRASSING	0.15	AC	\$0.01	\$0.00	\$485.00	\$72.75
163-0240	MULCH	5	TN	\$0.01	\$0.05	\$350.00	\$1,750.00
	MAINTENANCE OF INLET SEDIMENT TRAP	1	EΑ	\$0.01	\$0.01	\$20.00	\$20.00
171-0030	TEMPORARY SILT FENCE, TYPE C	200	LF	\$2.63	\$526.00	\$3.75	\$750.00
310-1101	GR AGGR BASE CRS, INCL MATL	120	TN	\$38.89	\$4,666.80	\$30.00	\$3,600.00
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	30	TN	\$270.00	\$8,100.00	\$220.00	\$6,600.00
402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	10	TN	\$153.60	\$1,536.00	\$145.00	\$1,450.00
402-3130	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	780	TN	\$153.60	\$119,808.00	\$145.00	\$113,100.00
402-3190	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME	15	TN	\$240.00	\$3,600.00	\$145.00	\$2,175.00
413-0750	TACK COAT	490	GL	\$5.00	\$2,450.00	\$8.50	\$4,165.00
	MILL ASPH CONC PVMT, 1 1/2 IN DEPTH	9,100	SY	\$4.09	\$37,219.00	\$6.50	\$59,150.00
441-0018	DRIVEWAY CONCRETE, 8 IN TK	70	SY	\$116.66	\$8,166.20	\$65.00	\$4,550.00
441-0104	CONC SIDEWALK, 4 IN	250	SY	\$59.70	\$14,925.00	\$33.00	\$8,250.00
	CONC SIDEWALK, 8 IN	140	SY	\$88.31	\$12,363.40	\$65.00	\$9,100.00
	CONC VALLEY GUTTER, 8 IN	20	SY	\$116.66	\$2,333.20	\$65.00	\$1,300.00
	CONC CURB & GUTTER, 8 IN X 24 IN, TP 2	40	LF	\$29.17	\$1,166.80	\$15.00	\$600.00
441-6222	CONC CURB & GUTTER, 8 IN X 30 IN, TP 2	540	LF	\$29.17	\$15,751.80	\$18.00	\$9,720.00
	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH	50	LF	\$2.00	\$100.00	\$15.00	\$750.00
	CLASS B CONC, BASE OR PVMT WIDENING	4	CY	\$276.12	\$1,104.48	\$250.00	\$1,000.00
	RECONSTR STORM SEW MANHOLE, TYPE 1	1	EΑ	\$1,566.44	\$1,566.44	\$2,500.00	\$2,500.00
636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	64	SF	\$36.37	\$2,327.68	\$40.00	\$2,560.00
	GALV STEEL POSTS, TP 7	190	LF	\$19.00	\$3,610.00	\$20.00	\$3,800.00
	PLASTIC FLEXIBLE DELINEATOR, TP 2B	116	EΑ	\$71.52	\$8,296.32	\$125.00	\$14,500.00
652-0105	PAINT PAVEMENT MARKING, BIKE AND ARROW SYMBOL (COLORIZED GREEN					, and the second	, , , , , , , , ,
	BACKGROUND)	12	EΑ	\$1,375.00	\$16,500.00	\$200.00	\$2,400.00
	PAVEMENT MARKING, ARROW, TP 1 (PAINT)	2	EΑ	\$62.12	\$124.24	\$50.00	\$100.00
	SOLID TRAFFIC STRIPE, 5 IN, YELLOW (PAINT)	260	LF	\$1.38	\$358.80	\$1.00	\$260.00
	THERMOPLASTIC PVMT MARKING, ARROW, TP 2	9	EΑ	\$144.94	\$1,304.46	\$120.00	\$1,080.00
653-0130	THERMOPLASTIC PVMT MARKING, ARROW, TP 3	4	EΑ	\$241.57	\$966.28	\$200.00	\$800.00
	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, WHITE	3,100	LF	\$0.60	\$1,860.00	\$1.50	\$4,650.00
653-1502	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, YELLOW	3,930	LF	\$0.60	\$2,358.00	\$1.50	\$5,895.00
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	80		\$6.90	\$552.00	\$7.00	\$560.00
653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE			\$2.35	\$2,350.00	\$3.50	\$3,500.00
653-3501	THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, WHITE	•	GLF	\$0.76	\$539.60	\$1.50	\$1,065.00
	THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, YELLOW		GLF	\$0.76	\$190.00	\$1.50 \$1.50	\$375.00
	THERMOPLASTIC TRAF STRIPING, WHITE	1,271		\$6.90	\$8,769.90	\$14.00	\$17,794.00

RECEIVED BY: CITY OF HAPEVILLE, GEORGIA

AT HAPEVILLE CITY HALL

2:00 P.M., LOCAL TIME, AUGUST 20, 2019

				BIDD	ER NO. 1	BIDDER NO. 2	
				Excellere Co	nstruction, LLC	Construction 57, Inc.	
				4343 Shallowf	ord Road, Ste B6B	809 Park N	orth Boulevard
				Marietta	, GA 30062	Clarkston, GA 30021	
ITEM				UNIT		UNIT	
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT
653-6006	THERMOPLASTIC TRAF STRIPING, YELLOW	100	SY	\$6.90	\$690.00	\$14.00	\$1,400.00
654-1001	RAISED PVMT MARKERS TP 1	85	EΑ	\$6.90	\$586.50	\$12.00	\$1,020.00
654-1003	RAISED PVMT MARKERS TP 3	21	EΑ	\$6.90	\$144.90	\$12.00	\$252.00
657-1084	PREFORMED PLASTIC SOLID PVMT MKG, 8 IN, WHITE, TP PB	160	LF	\$11.04	\$1,766.40	\$20.00	\$3,200.00
	HOT APPLIED PREFORMED PLASTIC PVMT MARKINGS (BIKE SYMBOL)	8	EΑ	\$628.07	\$5,024.56	\$850.00	\$6,800.00
659-5000	HOT APPLIED PREFORMED PLASTIC PVMT MARKINGS (ARROW)	65	EΑ	\$103.53	\$6,729.45	\$175.00	\$11,375.00
659-7030	HOT APPLIED PREFORMED PLASTIC PVMT MKG, COLORIZED BIKE LANE (GREEN						
ľ	BACKGROUND)	14	EΑ	\$1,449.40	\$20,291.60	\$2,400.00	\$33,600.00
668-2100	DROP INLET, GP 1	1	EΑ	\$2,985.05	\$2,985.05	\$2,500.00	\$2,500.00
700-7000	AGRICULTURAL LIME	1	TN	\$0.01	\$0.01	\$500.00	\$500.00
700-8000	FERTILIZER MIXED GRADE	1	TN	\$0.01	\$0.01	\$500.00	\$500.00
	FERTILIZER NITROGEN CONTENT	10	LB	\$0.01	\$0.10	\$1.50	\$15.00
700-9300	SOD	65	SY	\$16.55	\$1,075.75	\$11.00	\$715.00
900-0039	BRICK PAVERS	290	SF	\$31.88	\$9,245.20	\$15.00	\$4,350.00
999-9999	PRESSURE WASH EXISTING PAVEMENT	860	SY	\$4.00	\$3,440.00	\$5.00	\$4,300.00
					**		* * * * * * * * * * * * * * * * * * * *
	TOTAL BID AMOUNT				\$428,400.00		\$445,688.75
	BID BOND				5%		5%
	NOTE REFERENCE				(1)		(1)
	LICENSE NUMBER				GCCO004851		UC302253

BIDDER NO. 3

BIDDER NO. 4

RECEIVED BY: CITY OF HAPEVILLE, GEORGIA

AT HAPEVILLE CITY HALL

2:00 P.M., LOCAL TIME, AUGUST 20, 2019

				0000:		5.552.(10:4	
					C, Inc.	Tri Scapes, Inc.	
				4473 Covin	gton Highway	1595 Peachtree Parkway	
				Decatur,	GA 30035	Ste 204-396	
						Cummin	g, GA 30041
ITEM	The first the control of the control			UNIT		UNIT	<u> </u>
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT
	TRAFFIC CONTROL	1	LS	\$40,000.00	\$40,000.00	\$66,000.00	\$66,000.00
210-0100	GRADING COMPLETE	1	LS	\$50,000.00	\$50,000.00	\$373,618.20	\$373,618.20
	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP	1	EΑ	\$500.00	\$500.00	\$360.00	\$360.00
165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	100	LF	\$3.50	\$350.00	\$2.40	\$240.00
163-0232	TEMPORARY GRASSING	0.15	AC	\$2,500.00	\$375.00	\$3,000.00	\$450.00
163-0240		5	TN	\$750.00	\$3,750.00	\$594.00	\$2,970.00
165-0105	MAINTENANCE OF INLET SEDIMENT TRAP	1	EΑ	\$180.00	\$180.00	\$150.00	\$150.00
	TEMPORARY SILT FENCE, TYPE C	200	LF	\$5.50	\$1,100.00	\$6.00	\$1,200.00
310-1101	GR AGGR BASE CRS, INCL MATL	120	TN	\$30.00	\$3,600.00	\$35.99	\$4,318.80
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	30	TN	\$288.00	\$8,640.00	\$180.00	\$5,400.00
	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	10	TN	\$156.00	\$1,560.00	\$136.80	\$1,368.00
	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	780	TN	\$148.00	\$115,440.00	\$136.80	\$106,704.00
402-3190	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2,INCL BITUM MATL & H LIME	15	TN	\$179.00	\$2,685.00	\$124.80	\$1,872.00
413-0750	TACK COAT	490	GL	\$6.00	\$2,940.00	\$6.30	\$3,087.00
	MILL ASPH CONC PVMT, 1 1/2 IN DEPTH	9,100	SY	\$5.25	\$47,775.00	\$4.76	\$43,316.00
	DRIVEWAY CONCRETE, 8 IN TK	70	SY	\$75.00	\$5,250.00	\$90.32	\$6,322.40
441-0104	CONC SIDEWALK, 4 IN	250	SY	\$55.00	\$13,750.00	\$45.17	\$11,292.50
441-0108	CONC SIDEWALK, 8 IN	140	SY	\$75.00	\$10,500.00	\$90.32	\$12,644.80
441-4030	CONC VALLEY GUTTER, 8 IN	20	SY	\$75.00	\$1,500.00	\$56.87	\$1,137.40
441-6216	CONC CURB & GUTTER, 8 IN X 24 IN, TP 2	40	LF	\$25.00	\$1,000.00	\$27.92	\$1,116.80
	CONC CURB & GUTTER, 8 IN X 30 IN, TP 2	540	LF	\$25.00	\$13,500.00	\$19.38	\$10,465.20
446-1100	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH	50	LF	\$23.00	\$1,150.00	\$12.00	\$600.00
500-9999	CLASS B CONC, BASE OR PVMT WIDENING	4	CY	\$300.00	\$1,200.00	\$409.50	\$1,638.00
611-3030	RECONSTR STORM SEW MANHOLE, TYPE 1	1	EA	\$3,000.00	\$3,000.00	\$3,345.00	\$3,345.00
636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	64	SF	\$34.50	\$2,208.00	\$36.00	\$2,304.00
636-2070	GALV STEEL POSTS, TP 7	190	LF	\$23.60	\$4,484.00	\$16.80	\$3,192.00
636-4104	PLASTIC FLEXIBLE DELINEATOR, TP 2B	116	EA	\$214.50	\$24,882.00	\$123.06	\$14,274.96
652-0105	PAINT PAVEMENT MARKING, BIKE AND ARROW SYMBOL (COLORIZED GREEN						
	BACKGROUND)	12		\$690.00	\$8,280.00	\$180.00	\$2,160.00
652-0110	PAVEMENT MARKING, ARROW, TP 1 (PAINT)	2	EΑ	\$61.00	\$122.00	\$42.00	\$84.00
652-5452	SOLID TRAFFIC STRIPE, 5 IN, YELLOW (PAINT)	260		\$0.50	\$130.00	\$0.60	\$156.00
	THERMOPLASTIC PVMT MARKING, ARROW, TP 2	9	EA	\$98.00	\$882.00	\$96.00	\$864.00
653-0130	THERMOPLASTIC PVMT MARKING, ARROW, TP 3	4	EA	\$148.50	\$594.00	\$192.00	\$768.00
	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, WHITE	3,100		\$1.30	\$4,030.00	\$1.14	\$3,534.00
	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, YELLOW	3,930		\$1.30	\$5,109.00	\$1.14	\$4,480.20
	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	80		\$6.25	\$500.00	\$5.40	\$432.00
	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	1,000		\$3.25	\$3,250.00	\$2.58	\$2,580.00
	THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, WHITE		GLF	\$1.10	\$781.00	\$1.08	\$766.80
1	THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, YELLOW		GLF	\$1.10	\$275.00	\$1.08	\$270.00
653-6004	THERMOPLASTIC TRAF STRIPING, WHITE	1,271	SY	\$11.50	\$14,616.50	\$10.80	\$13,726.80

RECEIVED BY: CITY OF HAPEVILLE, GEORGIA

AT HAPEVILLE CITY HALL

2:00 P.M., LOCAL TIME, AUGUST 20, 2019

				BIDD	ER NO. 3	BIDDER NO. 4	
				SD8	C, Inc.	Tri Scapes, Inc.	
				4473 Covir	igton Highway	1595 Peac	chtree Parkway
				Decatur	, GA 30035	Ste	204-396
						Cumming, GA 30041	
ITEM				UNIT		UNIT	
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT
653-6006	THERMOPLASTIC TRAF STRIPING, YELLOW	100	SY	\$10.50	\$1,050.00	\$10.80	\$1,080.00
	RAISED PVMT MARKERS TP 1	85	EΑ	\$8.00	\$680.00	\$9.60	\$816.00
654-1003	RAISED PVMT MARKERS TP 3	21	EΑ	\$8.00	\$168.00	\$9.60	\$201.60
657-1084	PREFORMED PLASTIC SOLID PVMT MKG, 8 IN, WHITE, TP PB	160	LF	\$18.50	\$2,960.00	\$15.30	\$2,448.00
659-5000	HOT APPLIED PREFORMED PLASTIC PVMT MARKINGS (BIKE SYMBOL)	8	EΑ	\$575.00	\$4,600.00	\$822.00	\$6,576.00
659-5000	HOT APPLIED PREFORMED PLASTIC PVMT MARKINGS (ARROW)	65	EA	\$201.25	\$13,081.25	\$150.00	\$9,750.00
659-7030	HOT APPLIED PREFORMED PLASTIC PVMT MKG, COLORIZED BIKE LANE (GREEN				·	·	
	BACKGROUND)	14	EΑ	\$2,128.00	\$29,792.00	\$2,496.00	\$34,944.00
668-2100	DROP INLET, GP 1	1	EΑ	\$3,000.00	\$3,000.00	\$3,045.00	\$3,045.00
700-7000	AGRICULTURAL LIME	1	TN	\$180.00	\$180.00	\$360.00	\$360.00
700-8000	FERTILIZER MIXED GRADE	1	TN	\$1,074.00	\$1,074.00	\$630.00	\$630.00
700-8100	FERTILIZER NITROGEN CONTENT	10	LB	\$12.00	\$120.00	\$6.00	\$60.00
700-9300	SOD	65	SY	\$20.00	\$1,300.00	\$16.73	\$1,087.45
900-0039	BRICK PAVERS	290	SF	\$28.00	\$8,120.00	\$21.57	\$6,255.30
999-9999	PRESSURE WASH EXISTING PAVEMENT	860	SY	\$5.00	\$4,300.00	\$3.60	\$3,096.00
	TOTAL DID AMOUNT				**************************************		
	TOTAL BID AMOUNT	5			\$470,313.75 *		\$779,558.21
	BID BOND				5%		5%
	NOTE REFERENCE				(1) (2)		(1)
	LICENSE NUMBER				RLC0002041		GCCO003381

NOTES:

- (1) SURETY COMPANY LISTED ON U. S. TREASURY CIRCULAR 570 (7/1/19).
- (2) BIDDER DID NOT SUBMIT PAGE 10 OF THE BID FORM (SYSTEMATIC ALIEN VERIFICATION AFFIDAVIT).

THIS IS TO CERTIFY THAT THIS IS A TRUE AND CORRECT TABULATION OF BIDS RECEIVED AT THE TIME AND PLACE STATED ABOVE. BIDS WERE SEALED WHEN RECEIVED AND OPENED AND READ ALOUD IN THE PRESENCE OF THE OWNER'S REPRESENTATIVE.

KECK & WOOD, INC.

DATE

^{*} DENOTES CORRECTED VALUE